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Ex/Sans/PG/3.1/75/2017

MASTER OF ARTS EXAMINATION, 2017
(2nd Year 3rd Semester)

SANSKRIT

Course : XI

[Sanskrit Prose]

Time : Two Hours Full Marks : 30

The figures in the margin indicate full marks.

=+ - PæFÚFF;F:

(˜FÛÑF[ÞFÛFFÜFµFÛFh)

1. õF]ÞP;FÞF ¼WæFÎFF;FÜFFa PáFÑÜFF ÑF¦˜F ÒèÎFFO õFÛFFÍFWÜFFO— 1×5=5

(=+) ¶F¼ÎF] èF[áFÛF&Fµ°ÜF¼¦¡FõFF < E&Fµ°ÜF¼h GP¶F P=e+ÜFFÜFF:
=+¶FFa =+:? E¦¡FõFF G¶ÜFõÜF ÑFÜFFaÜF: ¼UÜF¶FFÛFh—

(&F) æFÑF]ÞõÜF ... ... èæFÚFeW ¶F¼P‡FÑF¼h GðF]Òù¶Fk õF ÞFÛF: < =+õÜF
æFÑF]:? P=k+ PæFP˜FÎ¶ÜF ÞFÛF: HPÇñk =+ÛFa E=+ÞX¶Fh?

(;F) =+ EFõFU¶Fh õF]ÙFFC:? =+õ¶Fk ¡FfFFÎF?

(fF) ÎFCðF: =W+ÎF ùW¶F]ÎFF ÚF]¡F”~ÚFFæFk ÒFÑ¶F:?

(‘~) EPÜF =+æFáFÜF ÛFFÛFh EÛF[ PæFÛF]¦˜F-ÞW&FF‘h~P=+¶FÑF¼Y: =W+ðFFk
ÑFÞFÛFèFa:?

(˜F) E;Fõ¶ÜF: =+ÜFX: ii;FFÍF¶FF;FFÍF¶FF¶Fõ=+Þjj EFõFU¶Fh?

(š) E;Fõ¶ÜFFêFÛFW õFááF=+UæF_‡F: =W+ÎF ùW¶F]ÎF PÎFÜFPÛF¶FèFF&F: õFkæF_̧ F:?
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2. õF]ÞP;FÞF ¼WæFÎFF;FÜFFa PáFÑÜFF ÑF¼ÑF¦˜F=+õÜF E»FFa: ¼WÜFFO— 1×5=5

õFèFÞFõFÎF:, èFFÑFæÜFFÑF¼ÛFh, æF_ðFõÜFÎ¶FU, &FÞÑFßPðF, ÎFFÎFFÎFX=+PÎFæFùWÎF,
=]+¶Fõ¶ÜFFY, PèFáFUÛF]&FFÎFh, PÑFPèF¶FÚF]¡FÛFh, ÑFPÞÞÛÚFµFÛFh, æFáFÎ¶FW—

3. ˜FÛÑF[ÞFÛFFÜFµFÛFh EÎF]õF_¶ÜF ùWÛFÎ¶F=+FáF: =W+ðFFk =_+¶FW õF]ÚF;Fk=+Þ GP¶F
æFµÜFa¶FFÛFh— 5

E»FæFF,

EÍFXPáFP&F¶FõÜF èáFX=+õÜF šÎ¼XNáFk=+FÞè˜F PÎFµFUaÜFW¶FFÛFh—

EPõÛFÎFh ÛFùFÑF»FPÍFÜFF æF¼ÎFk PæF;FFþ PÎF;FaÎ¶F]ÛF‡FÛF¶FÜFF ¡F*ÞW áF]*PÆ:—

æFÎÜFY;Fa¡FYÞ¡F;FÞF: PÑFPèF¶FFèFÎFWÚÜFX  æFF¶FFPÑF¼FÎFæF¼èFFÛF]ÑF ¼WèFÜFPÎ¶F——

&F-PæFÚFF;F:

(ùðFa˜FPÞ¶FÛFh)

4. õF]ÞP;FÞF ¼WæFÎFF;FÜFFa PáFÑÜFF ÑF¦˜F ÒèÎFFO õFÛFFÍFWÜFFO— 1×5=5

(=+) H¼U˜ÜFWðF] Ò¶FU˜ÜFWðF] ˜F =+U¼_èFk =+FæÜFk õFÛFF¼_¶FÛFh?

(&F) ÚFªFÞùPÞ˜FÎ½=_+¶F;FÃÙFÎÍFõÜF ÎF_ÑFõÜF ˜F õFFÛFFÎÜFÍFÛFWaðF] ÂFY
HPááF&ÜFW¶FFÛFh—

(;F) ÒæFÞõFWÎFÞF¡FõÜF =+UP¶Fa: P=+ÛFFPêF¶ÜF õFF;FÞõÜF ÑFÞk ÑFFÞk ÒÜFF¶FF?
õF];FeUæFÑF‡FW ÒæFÞõFWÎF GP¶F èFÙ¼: æÜF]¶ÑFFÃ¶FFÛFh—

(fF) ùðFaæFÍFaÎF: ¡FÎFPÜF¶F]ÞFÜF]ð=+FÛF: P=+ÛF=+ÞX¶Fh?

(‘~) ÎF;ÎFF©=+õÜF P=k+ áFF¦šÎFÛFFõFU¶F h? =W+ÎF =+FÞµF WÎF õF
=+¡¡FáFÛFÜF GæF GP¶F H¶ÒW‡ÜF¶FW?
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(˜F) èFX=+F=]+áFW õ=+ÎÍFFæFFÞW ÎFæFõFWæF=+F: =W+ÎF ùW¶F]ÎFF PæF=+áFF
EFõFÎFh?

(š) ÜFÛFÑF©hP©=+õÜF ùõ¶FÂÜFWÎF P=k+ æFõ¶F]ÂÜFk PæFÍF_¶FÛFh EFõFU¶Fh?

5. ùðFã FPÞ¶FõÜF ÒFÞÛÚFèáFX=W+ðF] EF&ÜFFPÜF=+FÒèFkõFF ÜF»FF HÑFáFÚÜF¶FW ¶F»FF
õæF=+UÜFèFYYáÜFF H˜ÜF¶FFÛFh— 5

E»FæFF,

ÞF¡F=]+áFW ÙFFþÑFPÞ¡FÎFF: ÑFUP°¶FõÜF ÑFFP»FaæFõÜF EæFõ»FFk =+»Fk
æFµFaÜFPÎ¶F õÛF?

6. õF]ÞP;FÞF ¼WæFÎFF;FÜFFa E»FFa áFW&FÎFUÜFF:— 5

ÒP¶FÑFF¼=Y+: (EF&ÜFFPÜF=+FÑF‡F W), E;F eFÛÜFÛF h (=+XèFÑF‡F W),
õFÛF ]ÇUPÑF¶F=+Î¼ÑFF a (ÙF _ù¶=+»FFÑF‡F W), EFÞFÍÜFÛFFÎFFPùÙF a ]ÍÎFÛF h,
PæF½FµFPæFÑFPè˜FP¶F—

E»FæFF,

¼Fù¡æFÞF=e+FÎ¶F-ÒÚFF=+ÞæFÍFaÎFõÜF ÑFU°XÑFèFÛFÎFF»FaÛFh EFYðFÍFõÜF ÑF»ÜFõÜF
˜F =+F æÜFæFõ»FF =_+¶FF?
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